

CITY MANAGER'S OFFICE

CITY OF NEWARK

220 South Main Street · Newark, Delaware 19711 302.366.7000 · Fax 302.366.7035 · www.newarkde.gov

August 30, 2023

CONTRACT 23-15:

SANITARY SEWER IMPROVEMENTS 2023

UNOFFICIAL BID RESULTS

Bids were received from the following vendors by the 2:00 p.m. deadline on 8/29/2023:

- Spiniello Companies
- Mobile Dredging & Video Pipe, Inc.
- Insituform Technologies, LLC

The following pages have the proposal sheets for the three vendors above.

CONTRACT NO. 23-15

SANITARY SEWER INPROVEMENTS 2023

PROPOSAL

To: The Mayor and City Council

Newark, Delaware

From: Spiniello Companies

The undersigned as a lawfully authorized agent for the below named bidder has carefully examined the Bid Documents to be known as Contract No. 23-15 and binds himself on award to him by the Mayor and City Council of Newark, Delaware to execute in accordance with such award, a contract of which this Proposal and said General Provisions and Specifications and any Addenda shall be a part, and to furnish the goods as specified F.O.B. Newark, Delaware in a manner that is in complete accordance with said General Provisions and Specifications at the following named unit price on or before the delivery period stated below:

Bid Item	Item Description	Unit	Bid Quantity	Unit Price	Item Total	
	AREA 1:	MACDUF	F COURT			
1-1	CIPP Liner, 8"	LF	199	\$285.00	\$56,715.00	
1-2	CIPP Liner, 24"	LF	399	\$375.00	\$149,625.00	
1-3	CIPP Liner, 36"	LF	166	\$1,150.00	\$190,900.00	
1-4	Hinged Lid Replacement	EA	4	\$8,500.00	\$34,000.00	
	AREA 2: COLLEGE AVE					
2-1	CIPP Liner, 8"	LF	698	\$170.00	\$118,660.00	
2-2	CIPP Liner, 10"	LF	489	\$205.00	\$100,245.00	
2-3	Lateral Connection Reinstatement	EA	8	\$3,200.00	\$25,600.00	
2-4	Hinged Lid Replacement	EA	7	\$9,000.00	\$63,000.00	
AREA 3: BELLEVUE ROAD						
3-1	CIPP Liner, 8"	LF	763	\$205.00	\$156,415.00	
3-2	Lateral Connection Reinstatement	EA	3	\$3,200.00	\$9,600.00	
3-3	Hinged Lid Replacement	EA	1	\$8,400.00	\$8,400.00	
3-4	Standard Lid Replacement	EA	1	\$12,193.00	\$12,193.00	

Bid Item	Item Description	Unit	Bid Quantity	Unit Price	Item Total	
	AREA 4: EAST MA	AIN STREE	T & MCKEES L	ANE		
4-1	CIPP Liner, 8"	LF	375	\$115.00	\$43,125.00	
4-2	CIPP Liner, 18"	LF	3035	\$210.00	\$637,350.00	
4-3	Lateral Connection Reinstatement	EA	34	\$3,200.00	\$108,800.00	
4-4	Manhole Lining	VF	9	\$800.00	\$7,200.00	
4-5	Hinged Lid Replacement	EA	2	\$8,400.00	\$16,800.00	
4-6	White Clay Creek Bypass	LS	1	\$203,407.00	\$203,407.00	
	AREA 5: CREEK ROAD					
5-1	CIPP Liner, 10"	LF	899	\$140.00	\$125,860.00	
5-2	CIPP Liner, 18"	LF	4177	\$190.00	\$793,630.00	
5-3	Manhole Lining	VF	114	\$750.00	\$85,500.00	
5-4	Hinged Lid Replacement	EA	14	\$8,400.00	\$117,600.00	
5-5	Temporary Access Bridge	LS	1	\$100,000.00	\$100,000.00	
	AREA 6	: FREMO	NT TRAIL			
6-1	CIPP Liner, 8"	LF	1839	\$125.00	\$229,875.00	
6-2	Point Repair, Open Cut	EA	1	\$30,000.00	\$30,000.00	
6-3	Manhole Lining	VF	84	\$750.00	\$63,000.00	
6-4	Hinged Lid Replacement	EA	7	\$8,400.00	\$58,800.00	
	CON	TINGENT	ITEMS			
7-1	Grouting	EA	20	\$800.00	\$16,000.00	
7-2	Remove Protruding Lateral	EA	10	\$500.00	\$5,000.00	
7-3	Manhole Lining – Arbour Park	LS	1	\$6,000.00	\$6,000.00	
	TOTAL FOR BID ITEMS 1-1 THROUGH 7-3: \$3,573,300.00					

CONTRACT NO. 23-15

SANITARY SEWER IMPROVEMENTS 2023

PROPOSAL (CONT.)

We acknowledge that we are are not (circle one) registered on www.sam.gov. We also acknowledge that there are no exceptions noted against us as outlined on www.sam.gov.

Our unique entity identifier (UEI), as outlined on www.sam.gov is (write N/A if none): S8SCM8MKAB31

Addenda 1, 8/11/2023; Addenda 2, 8/21/2023 Addenda 3, 8/25/2023
+
different from below):
DATE: 8/29/2023
Todd Galletti Print Name
3500 East Biddle Street Address Line 1
Address Line 2
Baltimore, MD 21213 City, State, ZIP Code

CONTRACT NO. 23-15

SANITARY SEWER INPROVEMENTS 2023

PROPOSAL

To: The Mayor and City Council Newark, Delaware

From: Mobile Dredging & Video Pipe, Inc.

The undersigned as a lawfully authorized agent for the below named bidder has carefully examined the Bid Documents to be known as Contract No. 23-15 and binds himself on award to him by the Mayor and City Council of Newark, Delaware to execute in accordance with such award, a contract of which this Proposal and said General Provisions and Specifications and any Addenda shall be a part, and to furnish the goods as specified F.O.B. Newark, Delaware in a manner that is in complete accordance with said General Provisions and Specifications at the following named unit price on or before the delivery period stated below:

Bid Item	Item Description	Unit	Bid Quantity	Unit Price	Item Total
	AREA 1	MACDUF	F COURT		
1-1	CIPP Liner, 8"	LF	199	\$312.00	\$62,088.00
1-2	CIPP Liner, 24"	LF	399	\$363.00	\$144,837.00
1-3	CIPP Liner, 36"	LF	166	\$559.00	\$92,794.00
1-4	Hinged Lid Replacement	EA	4	\$7,380.00	\$29,520.00
	AREA 2: COLLEGE AVE				
2-1	CIPP Liner, 8"	LF	698	\$260.00	\$181,480.00
2-2	CIPP Liner, 10"	LF	489	\$276.00	\$134,964.00
2-3	Lateral Connection Reinstatement	EA	8	\$1,047.00	\$8,376.00
2-4	Hinged Lid Replacement	EA	7	\$7,380.00	\$51,660.00
AREA 3: BELLEVUE ROAD					
3-1	CIPP Liner, 8"	LF	763	\$43.00	\$32,809.00
3-2	Lateral Connection Reinstatement	EA	3	\$1,389.00	\$4,167.00
3-3	Hinged Lid Replacement	EA	1	\$7,380.00	\$7,380.00
3-4	Standard Lid Replacement	EA	1	\$6,960.00	\$6,960.00

Bid Item	Item Description	Unit	Bid Quantity	Unit Price	Item Total	
	AREA 4: EAST MA	AIN STREE	T & MCKEES L	ANE		
4-1	CIPP Liner, 8"	LF	375	\$274.00	\$102,750.00	
4-2	CIPP Liner, 18"	LF	3035	\$302.00	\$916,570.00	
4-3	Lateral Connection Reinstatement	EA	34	\$1,073.00	\$36,482.00	
4-4	Manhole Lining	VF	9	\$1,274.00	\$11,466.00	
4-5	Hinged Lid Replacement	EA	2	\$7,380.00	\$14,760.00	
4-6	White Clay Creek Bypass	LS	1	\$25,000.00	\$25,000.00	
	AREA	5: CREEK	ROAD			
5-1	CIPP Liner, 10"	LF	899	\$229.00	\$205,871.00	
5-2	CIPP Liner, 18"	LF	4177	\$257.00	\$1,073,489.00	
5-3	Manhole Lining	VF	114	\$1,180.00	\$134,520.00	
5-4	Hinged Lid Replacement	EA	14	\$7,380.00	\$103,320.00	
5-5	Temporary Access Bridge	LS	1	\$325,500.00	\$325,500.00	
	AREA 6	: FREMO	NT TRAIL			
6-1	CIPP Liner, 8"	LF	1839	\$55.00	\$101,145.00	
6-2	Point Repair, Open Cut	EA	1	\$26,400.00	\$26,400.00	
6-3	Manhole Lining	VF	84	\$1,180.00	\$99,120.00	
6-4	Hinged Lid Replacement	EA	7	\$7,380.00	\$51,660.00	
	CONTINGENT ITEMS					
7-1	Grouting	EA	20	\$2,000.00	\$40,000.00	
7-2	Remove Protruding Lateral	EA	10	\$800.00	\$8,000.00	
?-?	Manhole Lining – Arbour Park	LS	1	\$14,160.00	\$14,160.00	
TOTAL FOR BID ITEMS 1-1 THROUGH 7-3: \$4,047,248.00						

CONTRACT NO. 23-15

SANITARY SEWER IMPROVEMENTS 2023

PROPOSAL (CONT.)

We acknowledge that we are lare not (circle one) registered on www.sam.gov. We also acknowledge that there are no exceptions noted against us as outlined on www.sam.gov.

here are no exceptions noted against us as outlined on w	ww.sam.gov.		
Our unique entity identifier (UEI), as outlined on www.sar	m.gov is (write N/A if none):DFUZN1ZPR6Y3		
We acknowledge receipt of addendum(a) numbers:	1 - 8/11/2023		
we acknowledge receipt of data-manife,	2 - 8/21/2023		
Exceptions:	3 - 8/25/2023		
Contact Information for Notice of Award/Rejection (If dif Gregg Stevenson - gstevenson@mdvpinc.com(85			
Project to be Completed byMobile Dredging	g & Video Pipe, Inc.		
BIDDER: Mobile Dredging & Video Pipe, Inc.	DATE: <u>8/29/2023</u>		
SUBMITTED BY:			
	Ryan Schmidt		
Legally Authorized Representative Signature	Print Name		
Vice President	1566 Harding Highway		
Title	Address Line 1		
rschmidt@mdvpinc.com			
Email Address	Address Line 2		
(301) 931-0707	Newfield, NJ 08344		
Telephone Number	City, State, ZIP Code		

CONTRACT NO. 23-15

SANITARY SEWER INPROVEMENTS 2023

PROPOSAL

To:	The Mayor and City Council
	Newark, Delaware

From: Insituform Technologies, LLC	
------------------------------------	--

The undersigned as a lawfully authorized agent for the below named bidder has carefully examined the Bid Documents to be known as Contract No. 23-15 and binds himself on award to him by the Mayor and City Council of Newark, Delaware to execute in accordance with such award, a contract of which this Proposal and said General Provisions and Specifications and any Addenda shall be a part, and to furnish the goods as specified F.O.B. Newark, Delaware in a manner that is in complete accordance with said General Provisions and Specifications at the following named unit price on or before the delivery period stated below:

Bid Item	Item Description	Unit	Bid Quantity	Unit Price	Item Total
	AREA 1	MACDUF	F COURT		
1-1	CIPP Liner, 8"	LF	199	\$185.00	\$36,815.00
1-2	CIPP Liner, 24"	LF	399	\$300.00	\$119,700.00
1-3	CIPP Liner, 36"	LF	166	\$545.00	\$90,470.00
1-4	Hinged Lid Replacement	EA	4	\$3,000.00	\$12,000.00
	AREA 2: COLLEGE AVE				
2-1	CIPP Liner, 8"	LF	698	\$105.00	\$73,290.00
2-2	CIPP Liner, 10"	LF	489	\$120.00	\$58,680.00
2-3	Lateral Connection Reinstatement	EA	8	\$200.00	\$1,600.00
2-4	Hinged Lid Replacement	EA	7	\$3,000.00	\$21,000.00
	AREA 3: BELLEVUE ROAD				
3-1	CIPP Liner, 8"	LF	763	\$95.00	\$72,485.00
3-2	Lateral Connection Reinstatement	EA	3	\$200.00	\$600.00
3-3	Hinged Lid Replacement	EA	1	\$3,000.00	\$3,000.00
3-4	Standard Lid Replacement	EA	1	\$2,500.00	\$2,500.00

Bid Item	Item Description	Unit	Bid Quantity	Unit Price	Item Total
	AREA 4: EAST MA	AIN STREE	T & MCKEES L	ANE	
4-1	CIPP Liner, 8"	LF	375	\$95.00	\$35,625.00
4-2	CIPP Liner, 18"	LF	3035	\$260.00	\$789,100.00
4-3	Lateral Connection Reinstatement	EA	34	\$800.00	\$27,200.00
4-4	Manhole Lining	VF	9	\$600.00	\$5,400.00
4-5	Hinged Lid Replacement	EA	2	\$3,000.00	\$6,000.00
4-6	White Clay Creek Bypass	LS	1	\$165,000.00	\$165,000.00
	AREA	5: CREEK	ROAD		
5-1	CIPP Liner, 10"	LF	899	\$135.00	\$121,365.00
5-2	CIPP Liner, 18"	LF	4177	\$295.00	\$1,232,215.00
5-3	Manhole Lining	VF	114	\$600.00	\$68,400.00
5-4	Hinged Lid Replacement	EA	14	\$3,000.00	\$42,000.00
5-5	Temporary Access Bridge	LS	1	\$25,500.00	\$25,500.00
	AREA 6	: FREMO	NT TRAIL		
6-1	CIPP Liner, 8"	LF	1839	\$145.00	\$266,655.00
6-2	Point Repair, Open Cut	EA	1	\$25,500.00	\$25,500.00
6-3	Manhole Lining	VF	84	\$600.00	\$50,400.00
6-4	Hinged Lid Replacement	EA	7	\$3,000.00	\$21,000.00
	CON	TINGENT	ITEMS		
7-1	Grouting	EA	20	\$1,800.00	\$36,000.00
7-2	Remove Protruding Lateral	EA	10	\$800.00	\$8,000.00
7-3	Manhole Lining – Arbour Park	LS	1	\$12,000.00	\$12,000.00
TOTAL FOR BID ITEMS 1-1 THROUGH 7-3: \$3,429,500.00					

CONTRACT NO. 23-15

SANITARY SEWER IMPROVEMENTS 2023

PROPOSAL (CONT.)

We acknowledge that we are not (circle one) registered on www.sam.gov. We also acknowledge that there are no exceptions noted against us as outlined on www.sam.gov.

Our unique entity identifier (UEI), as outlined on www.sam	.gov is (write N/A if none): G33KRM1MBKF4
We acknowledge receipt of addendum(a) numbers: 1,	2, 3
Exceptions:	
Contact Information for Notice of Award/Rejection (If diffe	rent from below): Same
Project to be Completed byInsituform Technologies	s, LLC
BIDDER: Insituform Technologies, LLC	DATE: 8-29-23
SUBMITTED BY: Legally Authorized Representative Signature	Christlanda Adkins Print Name
Contracting and Attesting Officer	HQ: 580 Goddard Ave,
Title	Address Line 1
cadkins@aegion.com	
Email Address	Address Line 2
636-530-8000	Chesterfield, MO 63005
Telephone Number	City, State, ZIP Code